

(2) Show that $\mathbb{Z} \equiv \mathbb{N}$ and $\# \mathbb{Z} = \aleph_0$ (4)

يجب ان نبين ان $\overline{\mathbb{N}} \equiv \mathbb{N}$, $\mathbb{Z} \equiv \overline{\mathbb{N}}$

$$\text{let } f: \mathbb{Z} \rightarrow \overline{\mathbb{N}}, \quad f(n) = \begin{cases} 2n-1 & n > 0 \\ -2n & n \leq 0 \end{cases}$$

$$\forall n_1, n_2 \in \mathbb{Z}, n_1 > 0, n_2 > 0, f(n_1) = f(n_2)$$

$$\Rightarrow 2n_1 - 1 = 2n_2 - 1$$

$$\Rightarrow n_1 = n_2$$

$\Rightarrow f$ is one to one.

$$\text{if } n_1 \leq 0, n_2 \leq 0, f(n_1) = f(n_2)$$

$$\Rightarrow -2n_1 = -2n_2$$

$$\Rightarrow n_1 = n_2$$

$\Rightarrow f$ is one to one.

$$\text{let } y \in \overline{\mathbb{N}}, \exists n \in \mathbb{Z} \text{ s.t. } f(n) = y$$

$$a) f(n) = 2n-1 \Rightarrow y = 2n-1 \Rightarrow 2n = y+1 \Rightarrow n = \frac{y+1}{2}$$

$$\therefore f(n) = 2\left(\frac{y+1}{2}\right) - 1 = y \quad \text{is onto.}$$

$$b) f(n) = -2n \Rightarrow n = \frac{-y}{2} \Rightarrow f(n) = -2\left(\frac{-y}{2}\right) = y \quad \text{onto.}$$

$\therefore f$ is bijective.

$$\therefore \mathbb{Z} \equiv \overline{\mathbb{N}}$$

$$\therefore \mathbb{Z} \equiv \overline{\mathbb{N}}, \text{ from (1) } \overline{\mathbb{N}} \equiv \mathbb{N}.$$

هذا يجب ان يوجد التكافؤ له نأخذ
ثبوتاً مباشراً

$$\mathbb{N} = \mathbb{N} \cup \{0\} \Rightarrow \aleph_0 = \# \mathbb{N} = \# \mathbb{Z}.$$

Note: 1. $\varnothing \equiv N$, $\#(\varnothing) = 0$.

2. $\forall k \in N$, then $N_k = \{1, 2, 3, \dots, k\}$

$$\#N_1 = \{1\} = 1 \quad , \quad \#N_2 = \{1, 2\} = 2$$

3. $N \not\equiv N_k$.

4. A is finite set if $A = \varnothing$ or $A \equiv N_k$.

Ex:- $A = \{a, b, c\}$

Sol:- $A \neq \varnothing$, $A \equiv N_3 \rightarrow A$ is finite.

5. let $A \equiv B$, then

a) A is finite $\Leftrightarrow$ B is finite.

b) A is infinite $\Leftrightarrow$ B is infinite.

6. let $A = [a, b]$ and $B = [c, d]$

then

$$f(x) = \left(\frac{d-c}{b-a} \right)x + \left(\frac{bc-da}{b-a} \right) \quad \text{فاون من}$$

بمستطاف معنا بعض في السؤال فتره

let $A = [1, 2]$ and $B = [3, 6]$, then $f(x) =$

Ex. :- let $A = [0, 1]$, $B = [2, 5]$, prove that (5)

$$\#(A) = \#(B).$$

كل من A و B عبارة عن فترة
 ∴ نضع على قافض العام لإيجاد الدالة

Solve:- To prove $A \sim B$

$$f(x) = \left(\frac{5-2}{1-0} \right)x + \left(\frac{2-(5)(0)}{1-0} \right)$$

$$\Rightarrow f(x) = 3x + 2$$

I- To prove f is one to one

$$\text{let } x_1, x_2 \in [0, 1] \text{ s.t. } f(x_1) = f(x_2)$$

$$\Rightarrow 3x_1 + 2 = 3x_2 + 2$$

$$\Rightarrow 3x_1 = 3x_2$$

$$\Rightarrow x_1 = x_2 \Rightarrow f \text{ is one to one.}$$

$$f(x) = 3x + 2 = y, \quad x \in [0, 1], \quad y \in [2, 5]$$

$$\therefore x = \frac{y-2}{3}$$

$$2 \leq y \leq 5$$

$$\Rightarrow 2-2 \leq y-2 \leq 5-2$$

$$\Rightarrow \frac{0}{3} \leq \frac{y-2}{3} \leq \frac{3}{3}$$

$$\Rightarrow 0 \leq \frac{y-2}{3} \leq 1$$

$$\Rightarrow 0 \leq x \leq 1$$

$$\text{II-} \therefore \forall y \in [2, 5], \exists x \in [0, 1] \text{ s.t. } x = \frac{y-2}{3}$$

$\therefore f$ is onto $\Rightarrow f$ is bijective.

$$\therefore A \equiv B \Rightarrow \# [0, 1] = \# [2, 5]$$

Ex. 1 - let $f: (-1, 1) \rightarrow (a, b)$ prove that $(-1, 1) \sim (a, b)$
or $\#(-1, 1) = \#(a, b)$

solve:- $f(x) = \left(\frac{b-a}{2}\right)x + \left(\frac{a+b}{2}\right)$

I- to prove f is bijective $\therefore$ to prove f is 1-1 and onto

let $x_1, x_2 \in (-1, 1)$ s.t. $f(x_1) = f(x_2)$

$$\left[\left(\frac{b-a}{2}\right)x_1 + \left(\frac{a+b}{2}\right) = \left(\frac{b-a}{2}\right)x_2 + \left(\frac{a+b}{2}\right) \right] \times 2$$

$$\Rightarrow (b-a)x_1 + \cancel{(a+b)} = (b-a)x_2 + \cancel{(a+b)}$$

$$\Rightarrow (b-a)x_1 = (b-a)x_2 \Rightarrow x_1 = x_2 \Rightarrow f \text{ is 1-1.}$$

to prove f is onto

let $y = f(x) = \left(\frac{b-a}{2}\right)x + \left(\frac{a+b}{2}\right)$

$$\Rightarrow zy = (b-a)x + (a+b)$$

$$\Rightarrow zy - (a+b) = (b-a)x \rightarrow x = \frac{zy - (a+b)}{(b-a)}$$

$$a < y < b \Rightarrow za < zy < zb$$

$$\Rightarrow za - (a+b) < zy - (a+b) < zb - (a+b)$$

$$\Rightarrow a - b < zy - (a+b) < b - a$$

$$\Rightarrow -(b-a) < zy - (a+b) < b-a \quad \text{بالضرب في } (b-a)$$

$$-1 < \frac{zy - (a+b)}{b-a} < 1 \Rightarrow -1 < x < 1$$

II- $\forall y \in (a, b), \exists x \in (-1, 1)$ s.t. $y = f(x)$

$\therefore f$ is onto $\Rightarrow f$ is bijective.

$$\Rightarrow (-1, 1) \sim (a, b) \Rightarrow \#(-1, 1) = \#(a, b).$$

Ex. 1-① let $A = \{a, b, c\}$

(6)

$$P(A) = \{\emptyset, \{a\}, \{b\}, \{c\}, \{a, b\}, \{a, c\}, \{b, c\}, A\}$$

$$\#(A) = 3$$

$$\#P(A) = 8$$

$$* \therefore \text{if } \#A = n \Rightarrow \#P(A) = 2^n$$

② let $A = \emptyset$

$$P(A) = \{\emptyset\}$$

$$\#(A) = 0$$

$$\#P(A) = 2^0 = 1$$

If $A = \emptyset$, then $\#P(A) = \text{---}$

$$P(A) = \{\emptyset\}$$

$$\#(A) = 0$$

$$\#P(A) = 2^0 = 1$$

من خلال الأمثلة السابقة لاحظنا هناك عدد اساس غير
مستقر واحد فقط هو $\times_0$ توجد اعداد اساس غير مستقرة
اخرى تختلف عن $\times_0$ اية هل توجد مجموعات اخرى
لا تكافئ $\times_0$.